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YouTube Lecture Links & Notes : K & I Scheme (L.ast Hour Revision Notes)
Topic : Statistic : Lecture 1: YT Link: https://www.youtube.com/watch?v=IN4QpelmctE

Topic : Derivative (Only For K — Scheme): Lecture 2: YT Link:
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pG74qZ&index=2

Topic : Application of Derivative (Only For K — Scheme) : Lecture 3: YT Link:
https://www.youtube.com/watch?v=vwnTDKWNUYE

Topic : Logarithm & Partial fraction & Function : Lecture 4: YT Link:
https://www.youtube.com/watch?v=P jVW8&Iqics

Topic : Straight Line : Lecture 5: YT Link:
https://www.youtube.com/watch?v=19pKCCJ81K4

Topic : Matrices : Lecture 6: YT Link: https://www.youtube.com/watch?v=791Ux-eUFpM

Topic : Revision : Lecture 7 : YT Link : https://www.youtube.com/watch?v=o0saQaS4jBsU
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